Royal Navy - Numerical Reasoning Test 1 answers

1) D = 55.37
Step 1 – Review the third figure after the decimal point
This is greater than 5 so the second figure after the decimal point needs to be rounded up

2) C = 9778

3) A = 2000
100 x 40/5000 = 2000

4) D = 300 square metres
20m x 15m = 300 square metres

5) B = 45.8

6) E = 40%
100 x 0.4/1 = 40%

7) A = £8.75
£50.00 x 17.5/100 = £8.75

8) C = 231

9) B = £810
Step 1 – Total budget calculation
9 x average utilities bill = 9 x £90 = £810

10) C = 200
500 x 40/100 = 200
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